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Chapter 6 & 9 Review — Part 1

1) The scatter plot shows the number of geese that migrated to a park
each season.

a) In what year did 270 geese migrate?
2017
b) How many geese migrated in 20107
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¢) Describe the relationship shown by the data.
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Describe the relationship between the data. Identify any outliers, gaps, or clusters.
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. 5) Youhave been working on a science project for 8 months. Each month, you measured the length of a baby
alligator. The following table shows your measurements.
| Aprit |

Month, x o | 1 2 3 4 5 6 7
Length (in), ¥ | 220 | 225 | 235 | 250 | 260 | 275 | 285 | 295

- Beptember




Use the following steps to predict the baby alligator’ s length next September.

a) Graph the data in the table,
b) Draw a line that you think best approximates the
points.
¢) Write an equation for your line, {' 5‘{ EX?J ZE)
Mz 26 5 . {
H5
[ W= Xt 27 }
d) Usethe equation to predict the baby alligator's

length next September.
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6) An animal shelter opens in December. The table
shows the number of cats adopted from the shelter

each month from January to September.

a) Make a scatter plot of the data and
draw a line of fit.
(hz )E’)Ce “’)b) Write an equation of the line of fit.
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e H,, A gc) Interpret the slope and the y-intercept
P R of the line of fit.
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7)

7)
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A class held an ice cream eating contest, The finalist scores are
shown in the bar graph.

a) How many scoops did John eat?
H.5 scoops

b)  What is the average number of scoops eaten by the

H.54443+54Y 572
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¢) How many scoops did Amy eat compe{red to Juan?

fiwy ate 8 SC00PS ccmlomwl 10 Tnan's 3 scoops (5 W\O‘(‘QB
d} What is the median amount of scoops eaten?
3.4 45 5 9%
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The following is a box-and-whiskers chart of
ages of teachers at Young Middle School

S B UV
15 20 25 30 35
a) What is the median age of tl-T teachers? b) How old the youngest and oldest tcachers?
25 ejémrs a‘ia [3"'\j0\m %l( 30 = OH{’ ‘S’k"

c) What percent of the teachers are between 18 d) What is the range of teachers’
and 30 years old? -

100

Find the mean, median, mode, and range. If an answer is not a whole number, round to the nearest tenth.

a) Mean= 52’7 L3 = ég %715 b) Median = é.‘:;

c) Mode={9"")‘;‘g)+é% d) Range= 72“‘é] f" “ i
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A family is making a monthly budget. Its total take-home pay
for a month is $2400.

a) What categc(;y' had the most expenditures?

Fos
b) How muchmeney was budgeted for Rent?

biro |
2400 » 0,25 = 600

¢) How much money was budgeted for Misc?

2400 -0,2] = Sy

d) Inthe circle graph, how many degrees is the sector of
“Clothes'?

360 (0,15 :




